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QUESTION 1

What are two characteristics of an `Item\\' organization? (Choose two.) 

A. It includes parameter definition, including lot. serial number, and item sourcing rules. 

B. It requires financial and accounting setups. 

C. It does not physically of financially track material storage or movement. 

D. It is ideal for deployments where inventory management may not be installed. 

Correct Answer: CD 

 

QUESTION 2

Your customer has seasonal demand and wants to generate forecast for next six months. You ran a demand plan for
first time using six months of shipments history but the forecast accuracy was low. 

Identify two statements that are true in this scenario. (Choose two.) 

A. Running a demand plan with both shipments and booking forecast profile is required to forecast seasonal demand. 

B. Running a demand plan with less than one year of history will impact seasonal analysis. 

C. Running a demand plan with both shipments and seasonal shipments forecast profile is required to forecast seasonal
demand. 

D. Running a demand plan with six months of booking history instead of six months of shipment history is required for
seasonal demand. 

E. Running a demand plan with 18 to 36 months of shipments history is recommended. 

Correct Answer: DE 

 

QUESTION 3

Which release recommendation parameter can you utilize to govern the behavior of the auto-release process? 

A. Release Only by User 

B. Auto-Release Interval in Days 

C. Auto-Release Planned Order Time Fence 

D. Quick Release Time Fence 

E. Compression Days Tolerance for Automatic Release 

Correct Answer: D 
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QUESTION 4

When analyzing demand fulfillment, what are the three types of recommendations that users can review and accept for
expediting? (Choose three.) 

A. Expedite transfer orders 

B. Expedite make orders 

C. Expedite buy orders 

D. Expedite drop ship orders 

E. Expedite make to stock orders 

Correct Answer: ABC 

 

QUESTION 5

As a new planner, you want to test simulation set functionality. You have created a simulation set named \\'Test
Simulation Set.\\' In this simulation set, you have already added Item 98573. You would like to change the item
specification \\'Fixed Order Quantity\\' to 10 within this simulation set. 

Which sequence will allow you to accomplish this task? 

A. Select and open \\'Test Simulation Set\\' > Search and select Item 98573 > Highlight item > Select \\'Action\\' > Select
\\'Edit\\' > Find Fixed Order Quantity specification> under the \\'Action\\' column select \\'set value as\\' > under the
\\'Value\\' column enter 10 

B. Select and open \\'Test Simulation Set\\' > Search and select Item 98573 > Highlight item > Select \\'View\\' > Select
\\'Columns\\' > Check box next to Fixed Order Quantity specification> the \\'Fixed Order Quantity\\' will now show on the
Item 98573 line > Highlight line for Item 98573 and scroll right until you find \\'Fixed Order Quantity\\' > Change value to
10 

C. Select and open \\'Test Simulation Set\\' > Search and select Item 98573 > Highlight item > Select \\'Action\\' > Select
\\'Edit\\' > Find Fixed Order Quantity specification> under the \\'Action\\' column select \\'reset to original\\' > under the
\\'Value\\' column enter 10 

D. Select and open \\'Test Simulation Set\\' > Search and select Item 98573 > Highlight line for Item 98573 and scroll
right until you find \\'Fixed Order Quantity\\' > Change value to 10 

Correct Answer: A 
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